
Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

788 dm² = 7,88 

Complète avec l’unité qui convient.

 

500 hm² = 5

Complète avec l’unité qui convient.

 

7 550 cm² = 0,755 



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

8,75 m² = 87 500 

Complète avec l’unité qui convient.

 

34,4 dam² = 3340

Complète avec l’unité qui convient.

 

872 mm² = 8,72



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

4,54 dm² =   45 400

Complète avec l’unité qui convient.

 

0,0497 hm² = 497

Complète avec l’unité qui convient.

 

877,4 mm² = 8,774



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

27,8 m² =   278 000

Complète avec l’unité qui convient.

 

0,002 km² = 2000

Complète avec l’unité qui convient.

 

257 dm² = 25 700



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

17 dam² =   0,17

Complète avec l’unité qui convient.

 

0,45 hm² = 4500

Complète avec l’unité qui convient.

 

7700 cm² = 0,77



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

9,1 cm² = 0,00091  

Complète avec l’unité qui convient.

 

10,2 hm² = 0,102

Complète avec l’unité qui convient.

 

189 dam² = 18 900



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

143,9 m² =   0,01439

Complète avec l’unité qui convient.

 

102,8 mm² = 1,028

Complète avec l’unité qui convient.

 

110,6 hm² = 11 060



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

144,2 cm² =  1,442 

Complète avec l’unité qui convient.

 

14,9 km² = 14 900

Complète avec l’unité qui convient.

 

50,4 dm² = 504 000



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

119,1 mm² =   0,01191

Complète avec l’unité qui convient.

 

75,427 m² = 754 270

Complète avec l’unité qui convient.

 

5302 cm² = 0,5302



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

789 dm² =   7,89

Complète avec l’unité qui convient.

 

1,45 m² = 145

Complète avec l’unité qui convient.

 

7,84 dam² = 78 400



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

15000 cm² =   1,5

Complète avec l’unité qui convient.

 

45,504 dam² = 455 040

Complète avec l’unité qui convient.

 

47 220 cm² = 4,722



Convertir, cela veut dire changer 
d’unité. 

Complète avec l’unité qui convient.

 

0,00588 km² =   588 000

Complète avec l’unité qui convient.

 

914 000 dm² = 0,914

Complète avec l’unité qui convient.

 

245,88 dm² = 2,4588




